選擇題 (每題五分)

1. 人類習慣使用哪一種數字系統計算事物？(A) 二進位 (B) 八進位 (C) 十六進位 (D) 十進位

2. 一台Pentium IV-2.4G的電腦，其中2.4G是表示該電腦的何種規格？ (A) 主記憶體容量 (B) 產品研發序號 (C) CPU時脈頻率 (D) 電源電壓

3. 在試算表軟體 Microsoft Excel 中，其公式中的儲存格參照運算子「：」表示下列何意義？ (A) 一段儲存格範圍 (B) 兩個儲存格範圍取交集 (C) 兩個儲存格範圍取聯集 (D) 兩個儲存格範圍取差集

4. 我們一般使用的個人電腦屬於 (A) 工作站 (B) 微電腦 (C) 迷你電腦 (D) 超級電腦

5. 下列為一程式片段：
i = 0; 

while i <= 100 do 

i = i + 3; 

執行上述程式片段後 i 的值為何？ (A) 100 (B) 105 (C) 99 (D) 102
6. 若有一大小為512×512之圖片，每個像素(pixel)以3個Bytes的全彩影像儲存於電腦中，則此圖片共需佔用多少記憶空間？ (A) 128 KBytes (B) 256 KBytes (C) 512 KBytes (D) 768 Kbytes
7. 下列Class B的IP位址哪一個是廣播位址：(A) 140.128.5.255 (B) 140.128.5.128 (C) 140.128.5.254 (D) 140.128.5.1 
8. 56Kbps 的網路通訊速度是指每分鐘可傳送多少資料？ (A) 3360K Bytes (B )56K Bytes (C) 56K bits (D) 420K Bytes
9. 若字元”A”的 ASCII 編碼為(65)10，請問“ZERO＂的 ASCII 編碼以十六進位依序表示為下列何者？ 

(A) (5A) 16 (45) 16 (53) 16 (4E) 16                                

(B) (5B) 16 (46) 16 (52) 16 (4E) 16         

(C) (90) 16 (69) 16 (82) 16 (79) 16 

(D) (5A) 16 (45) 16 (52) 16 (4F) 16
10. 假設網路 140.12.0.0 的網路遮罩(Netmask)為 255.255.24.192，下列何者屬於不同的子網路？ (A) 140.12.23.71 (B) 140.12.26.72 (C) 140.12.48.96 (D) 140.12.80.80

11. Which one is the binary representation of decimal value (22.25)10.
(A) 10110.10  (B) 10111.01  (C) 10110.01  (D) 10111.01  (E) 10110.11
12. Which one is the object oriented programming language?  
(A) Fortran  (B) Pascal  (C) C  (D) BASIC  (E) C++
13. Which one is the program that controls the overall operation of the computer.

(A) Operating system  (B) Control unit  (C) Scheduler  (D) Compiler  (E) Applications

14. Which one is the operation that complements the value of a Boolean expression.
(A) NOR  (B) NOT  (C) OR  (D) AND  (E) NAND
15. Which one is the operation that can change the normal sequential flow of control. 
(A) Data transfer  (B) Compare  (C) Arithmetic  (D) Branch  (E) Logic

16. In a machine language, the instruction operation code takes 6 bits. What is the maximum number of distinct operation codes that can be recognized and executed by the processor on this machine?

(A) 8  (B) 16  (C) 32  (D) 64  (E) 128
17. Which one is the functional unit that can fetch, decode, and execute instructions.
(A) Arithmetic logic unit  (B) I/O controllers  (C) Control unit  (D) Memory  (E) Cache

18. Which one is the network topology that all nodes are connected to a single shared communication line.

(A) Star  (B) Tree  (C) Ring  (D) Mesh  (E) Bus
19. Which one is the protocol that can communicates the client and server on WWW. 

(A) HTTP  (B) Telnet  (C) FTP  (D) MSN  (E) BBS

20. Which one is the register that holds the address of the next instruction to be executed.
(A) Memory address register  (B) Instruction register  (C) Program counter  (D) Flag register  (E) Memory data register

